

NUSANTARAH
 (SINARANG)

BUREAU OF RESEARCH
 Part 1

$\frac{dy}{dx} = C_1$
 $y = C_1 x + C_2$

$y = C_1$

$\frac{dy}{dx} = C_1$

$\frac{dy}{dx} = \frac{dy}{dx} + \frac{dy}{dx}$

$y = C_1 x + C_2$

$2x + 4x + 4x = 10x$

$\frac{dy}{dx} = 2x + 4x + 4x$

$\frac{dy}{dx} = 2e^{2x} + 4e^{2x} + 4e^{2x}$

$\frac{dy}{dx} = 2e^{2x} + 4e^{2x} + 4e^{2x}$

$y'' = \frac{dy}{dx} = 2e^{2x} + 4e^{2x} + 4e^{2x}$

$y'' = y' (2x+1) + 2y$

$y'' = 2e^{2x} + 4e^{2x} + 4e^{2x}$

$y' (2x+1) = (2x+1)(2e^{2x}) + 2y$

$2y = 2e^{2x} + 4e^{2x} + 4e^{2x}$

$y' (2x+1) + 2y = 2e^{2x} + 4e^{2x} + 4e^{2x} + 4e^{2x} + 4e^{2x} + 4e^{2x}$

$y'' = 2e^{2x} + 4e^{2x} + 4e^{2x} + 4e^{2x} + 4e^{2x} + 4e^{2x}$

$y'' = y' (2x+1) + 2y$

$y'' = y' (2x+1) + 2y$

W_1

$$u = y'' \quad v = 1$$

$$u' = y''' \quad v' = 0$$

$$u'' = y^{(4)} \quad v'' = 0$$

W_2

$$u = y' \quad v = 2x + 1$$

$$u' = y'' \quad v' = 2$$

$$u'' = y''' \quad v'' = 0$$

$$= y^{(4)}(2x+1) + y'''(2) + 0$$

$$= y^{(4)}(2x+1) + 2y'''$$

W_3

$$u = y \quad v = 1$$

$$u' = y' \quad v' = 0$$

$$= 2[y''(1) + 0]$$

$$= 2y''$$

$W_1 = W_2 + W_3$

$$y^{(4)} = y^{(4)}(2x+1) + 2y''' + 2y''$$

Q10 Using the Leibniz theorem

Prove that $y = 2^3 e^{4x}$ determines $y(5)$

Soln

$$u = 2^{3x} \quad v = x^2$$

$$y = (uv) = 5^3 u^3 v^2 + 10 u^2 v^3 + 5 u v^4$$

$$= 450 e^{12x} x^2 + 5(4 e^{4x} x^3)^2 + 10(4 e^{4x} x^2)^3 + 0$$

$$= 1024 e^{4x} x^2 + 1230 e^{8x} x^3 + 6720 e^{12x} x^4 + 420 e^{16x} x^5$$

$$= 0$$

$$= 0$$

$$= 0$$

W_1
 W_2
 W_3

NRACONSER UCHIE CHUK
(S) ENPUB 037

ELECTRIC ENGINEER

Part 2

$w_1 + w_2 + w_3 = 0$

For w_1 ,

$y = y'' \quad v = 2x^2$
 $u^2 = y_{n+2} \quad v' = 2x$
 $u^{n-1} = y_{n+1} \quad v'' = 2$

$u^{n-2} = y_n \quad v''' = 0$
 $= y^{(n+2)}(x^2) + n(n+1)(2x) + n(n-1)(2x)^2 + 0$
 $= x^2 y^{(n+2)} + 2nx(y_{n+1}) + 2n(n-1)y_n + 0$

For w_2

$u = y' \quad v = x$
 $u^n = y_{n+1} \quad v' = 1$
 $u^{n-1} = y_n \quad v'' = 0$

$= y_{n+1} \cdot x + n y_n + 0$

For w_3

$u = y \quad v = 1$
 $u^n = y_n \quad v' = 0$
 $= y_{n-1}$

$w_1 + w_2 + w_3 = 0$

$x^2 y_{n+2} + 2nx y_{n+1} + (n^2 - 2n)y_n + 2x y_{n+1} + n y_n + y_n$
 $x^2 y_{n+2} + 2nx y_{n+1} + 2x y_{n+1} + n^2 y_n - n y_n + n y_n + y_n$
 $x^2 y_{n+2} + 2n + 1(x y_{n+1}) + (n^2 + 1)y_n$